12-Mar-2007 06:50 AM

F:\StanDraw\st61712.dgn [Metric]

SHEET
STATE PROJECT NUMBER

NOTE:

1. See Standard M617-15 for other details.

2. Do not use terminal where speeds are in excess of
70 kmy/h [45 MPH)].

3. Dimensions without units are millimeters.

Standard post section 11.43 m parabola (Modified eccentric loader terminal) 1:20 slope relative to grade (20 m minimum)
and spacing

3 spaces at 1.27 m

Hinge line of foreslope

using 1.8 m posts \/ _
—

MELT anchorage

5 assembly
— 8
- - S
— I
- o Add aggregate base as
- - - — - - — — — — — 7 7 7 78 ] I required or as shown
Standard wood post ‘© ; on the typical section
~
150 ~
(max.) -
E E E 1.27 m E 1.27 m E 1.26 m E 1.88 m E 1.81 m E
Lo ) 7o) =) =) L 1) Q
3 3 S = S % S N Tangent line projected from the
S S ) ) Q S Q ™~ face of the last two post blocks
in the standard post section
PLAN
AA Pay Limits L Pay Limits Terminal Section, Type MELT
Guardrail System G4
EXTEND BOLTS THROUGH POST AND BLOCK BUT NOT THROUGH RAIL
Back up plates on Posts # 4, 5, 7, & 8; shelf angle on Post #2
L 3.810 m shop bent ., 1.905 m shop bent 1.905 m shop bent
27.5 m radius 27.5 m radius 11.5 m radius
i i — _ — — - I
f e — — - . : : : — ! — — = | Apply yellow 300 x 900 retroreflective
T — — — — — o — e = ] " adhesive sheeting to nose after curving. (Optional)
| |- L _
- - - - - - ) o i |
T T T T T T [ o ‘
I I Iy Iy Iy I I \H Iy |
b kol kol oo oo kol kol | =t &=y MELT anchorage assembly
X N N N N N N B N /SeeSheetZofz
| | | | | | |
19| 18 17) 16 15 14 13 | L
Lo Lo Lo Lo Lo La La | | | | ‘
[ [
Edge of pavement or ground line o | 1 | \
at face of rail as applicable ‘ L | | j
-
U.S. DEPARTMENT OF TRANSPORTATION
FEDERAL HIGHWAY ADMINISTRATION
ELEVATION FEDERAL LANDS HIGHWAY
METRIC STANDARD
APPROACH & DEPARTURE FLARE G4 W BEAM GUARDRAIL
WITH MODIFIED ECCENTRIC LOADER TERMINAL MODIFIED ECCENTRIC LOADER
TERMINAL, TYPE MELT
Sheet 1 of 2
NO SCALE STANDARD APPROVED FOR USE 3/1996 STANDARD
e oy M617-12




12-Mar-2007 06:51 AM

F:\StanDraw\st61712.dgn [Metric]

43 c 39
350 il [
_ \ -]
N T O
g — -
C <)
VIEW A-A SECTION B-B VIEW C-C
DIAPHRAGM PLATE DETAILS
(266 R before bending) 7?& 2 .
22 x 100 slots ~

45°

2.66 thickness

150 dia. hole

6-24x30

slotted holes optional

150 x 200 post and block

Extend bolt through post and
block but not through rail

Back up plate bolted to
blockout on Posts #4, 5, 7 & 8 \

550

1:10 or f/atter

i

Edge of pavement or
groundline at face of rail

90 dia. holes

1830

BREAKAWAY LINE POST AND BLOCK
POST #3 - 8

M16 x 50 guardrail bolt and
recess nut with 2 rectangular
plate washers under the bolt head

Shelf angle
See Detail C

Terminal
connector

NOTE:
1. See Standard M617-15 for other details.

Buffered end section. See
flat plate layout this sheet

SHEET

STATE NUMBER

PROJECT

Dimensional tolerances not shown or implied are intended to
be those consistent with the proper functioning of the part,
including its appearance, and accepted manufacturing
practices.

Furnish hardware in metric sizes shown. Equivalent
U.S. Customary sizes may be used when metric sizes are
not available.

Dimensions without units are millimeters.

20 x 65 post bolt slot

312+ 5

W-BEAM BACK UP PLATE

DIAPHRAGM PLATE 525 Disphragm plste POSTS #4, 5, 7, 8 8
. . required eaci
(2 required each terminal) end assembly)
PLAN
Q
8R 1S3 S M16 x 255 guardrail bolt and
~ 1 30° recess nut with a rectangular
Y % plate washer under the bolt head
e 22 x 50 slot and a steel washer under the nut
5 210 25
J 50 1905
YOKE DETAILS See Dot € 302, 405 M16 x 35 guardrail bolt
Anchor plate / with ;(ecesgur‘la;tsra(ltypo) * 7,
Channel C150 x 12.2 25R (typ.) 16 | = . ’
N ﬂ ‘ ‘ \ S 1 J— X
77777777777777777777 re-- —o - - — 06— o @ = o ] .
& N - s | ! 20 x 25 slotted hole —{~ | S
[ | R N d ™ ‘ A Ground line [~—— Terminal posts | . Q ™
~ P —— e N\ P Bearing plate e R
——————————————————————— ‘ ‘ ‘ . \ 6 thick steel plate —| A
50 216 | 190 M16 x 255 hex bolt and Galvanized M24 hex nut
49 1705 Y nut with 2 washers each _ cable assembly _ | and washer 150 80
M16 x 200 hex
STRUT DETAILS ELEVATION Soil plate (typ.) J bolt & mut with 0 DETAIL C
2 washers each N POST #2 SHELF ANGLE
1300 ~
| x
Steel tube
—_— 210 210 440 216 Steo It
S 2] 1]
| D ®o— - —o— " — - o— - -0 — —o— - -@
| | | N{ X | | | | ELEVATION U.S. DEPARTMENT OF TRANSPORTATION
\ [ 7: - o [ - FEDERAL HIGHWAY ADMINISTRATION
******** FEDERAL LANDS HIGHWAY
: N 24 x 30 slots (typ.
—— J_ﬂi 7 7(\37 = (\37 24 x50 slo (typ.) jﬁ)i 7 (\B ANCHORAGE ASSEMBLY METRIC STANDARD
Shown with legs down. For | | | 1 | | G4 W BEAM GUARDRAIL
opposite hand, install legs up. o MODIFIED ECCENTRIC LOADER
STRUT AND YOKE ASSEMBLY BUFFERED END SECTION TERMIIng;Ié{ 2 ofl:’zE MELT
F LA T P LA TE LA YOUT NO SCALE STANDARD APPROVED FOR USE 3/1996 STANDARD
T M617-12




	FLH Standards list
	Standard 617-12
	Standard M617-12
	Sheet 1 of 2
	Traditional format (CFL & EFL)
	Architectural format (EFL)
	WFLHD format

	Sheet 2 of 2
	Traditional format (CFL & EFL)
	Architectural format (EFL)
	WFLHD format




	Text1: 
	Text2: 
	Text3: 
	Text4: 
	Text5: 
	Text4a: 
	Text2w: 
	Text3w: 
	Text4w: 
	Text2w2: 
	Text3w2: 
	NPS: 


